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1. (A)      ?     . 14 

                       

      .  

 (B) -    : (  ) 4 

  (1)    .  

  (2) HDI  .  

  (3)       .  

  (4)      ? 

  (5)      ? 

 

2. (A)     . 14 

 

       .  

 (B) -    : (  ) 4 

  (1)      ?  

  (2)        ?  

  (3)      .  

  (4)    ?  

  (5)        ?  
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3. (A)      . 14 

             

  “ ”    .  

 (B) -    : (  ) 3 

  (1)      ?  

  (2)     .  

  (3)     ?  

  (4)        ?  

  (5) -     .  
 

4. (A)     . 14 

 

  “   ”,  .  

 (B) -    : (  ) 3 

  (1)   .  

  (2)    ?  

  (3)    .  

  (4)       ? 

  (5)     ?  

__________ 
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1. (A) What do you mean by growth & development ? Explain in detail characteristics of 
under-developed nations. 14 

                     OR 

  Explain in detail the theory of Demographic transition. 

 (B) Answer in two-three lines : (Any Four) 4 

  (1) Define Human Capital. 

  (2) Give the meaning of HDI.  

  (3) Show the relationship between Education & Economic development. 

  (4) What are the determinants of high birth rate ? 

  (5) What is meant by population explosion ? 

 

2. (A) Examine Ricardo’s theory of capital accumulation. 14 

                    OR 

  Explain Adam Smith’s theory of economic development. 

 (B) Answer in two-three lines : (Any Four) 4 

  (1) What do you mean by capital formation ? 

  (2) What is surplus value according to Marx ? 

  (3) State any three criticisms of Marxian theory. 

  (4) What do you mean by innovations ? 

  (5) What is meant by circular flow of economic life ? 
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3. (A) Explain Lewis model of unlimited supply of labour. 14 

           OR 

  Critically examine Big Push theory. 

 (B) Answer in two-three lines : (Any Three) 3 

  (1) What do you mean by Balanced growth ? 

  (2) State the limitations of Balanced growth theory. 

  (3) What is meant by unbalanced growth ? 

  (4) What are the main advantages of the theory of unbalanced growth ? 

  (5) State any four assumption of Fei-Ranis theory. 

 

4. (A) Explain the role of agriculture in economic development. 14 

                        OR 

  “Technology & sustainable agriculture”. Explain in detail. 

 (B) Answer in two-three lines : (Any Three) 3 

  (1) What do you mean by industrialisation ? 

  (2) What is meant by agriculture ? 

  (3) Give the meaning of sustainable agriculture. 

  (4) What is meant by capital intensive technology ? 

  (5) What is intermediate technology ? 

__________ 
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1. (A)     . 14 

                

  (1) 
xd

dy .  

   (i) y = (x2 – 1) (x – 1) 

   (ii) y = 
5  

25  10  2




x

xx
 

   (iii) xy = 16 

   (iv) y = 
43

20
  

15

xx
  

  (2) P = 20 – Q    . C = Q2 + 8Q + 2      .  

       .    .  

 (B)    : 4 

  (1)  xn dx = ? 

   (a) nxn – 1   (b) 
1 n 

1 n 



x
 + c  

   (c) 0 (d) 1 

  (2) 
xd

d
ex = ? 

   (a) log x (b) ex 

   (c) ax (d) log ea 
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  (3)  k f(x) dx = ? 

   (a) k (b) k +  f(x) dx  

   (c) k  f(x) dx (d) k2 

  (4)  ex dx = ? 

   (a) log x (b) ex  

   (c) ax (d) log ea 

 

2. (A)    .      14 

         

  (1)  A = 







98

76
  B = 








43

21
 ,  AB  BA .  

  (2)           : 

   x + y + z = 12 

   2x + y + z = 17 

   x + 2y + z = 16 

 (B)    :      4 

  (1)  

542

791

791

    = ? 

   (a) 45 (b) 0 

   (c) 245 (d) 1 

  (2)  
98

109
    = ? 

   (a) 0 (b) 1 

   (c) 100 (d) 10 
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  (3) 

















100

010

001

    ? 

   (a)      (b)    

   (c)      (d)    

  (4) A–1  ________. 

   (a)      (b)    

   (c) ‘A’    (d)    

 

3. (A)     ,      :   14 

 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 

 10 10 40 80 40 10 10 

  

        

  0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

  5 10 15 25 30 18 12 

 (B)    :      3 

  (1) 3, 8, 5, 3, 4, 5, 3   – 

   (a) 8 (b) 3 

   (c) 4 (d) 5 

  (2)  x = 400  n = 10 ,  x = ? 

   (a) 40 (b) 100 

   (c) 4000 (d) 410 

  (3)    

   (a) 5 (b) 4 

   (c) 3 (d) 2 
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4. (A)      .      14 

                

          -    .  

 (B)    :      3 

  (1)       ? 

   (a)      (b) -  

   (c) (a)  (b)    (d)    

  (2)       ? 

   (a)     (b)   

   (c)      (d)    

  (3)     ? 

   (a)  =    (b)  >  

   (c)  <    (d)    

__________ 
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1. (A) Explain the rules of derivatives with examples. 14 

              OR 

  (1) Find 
xd

dy
. 

   (i) y = (x2 – 1) (x – 1) 

   (ii) y = 
5  

25  10  2




x

xx
 

   (iii) xy = 16 

   (iv) y = 
43

20
  

15

xx
  

  (2) P = 20 – Q is a demand function. C = Q2 + 8Q + 2 is a total cost function of 

a firm. Find price and output to achieve maximum profit. Find maximum 

profit. 

 (B) Multiple choice questions : 4 

  (1)  xn dx = ? 

   (a) nxn – 1   (b) 
1 n 

1 n 



x
 + c  

   (c) 0 (d) 1 

  (2) 
xd

d
ex = ? 

   (a) log x (b) ex 

   (c) ax (d) log ea 
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  (3)  k f(x) dx = ? 

   (a) k (b) k +  f(x) dx  

   (c) k  f(x) dx (d) k2 

  (4)  ex dx = ? 

   (a) log x (b) ex  

   (c) ax (d) log ea 

 

2. (A) Explain various types of matrix.     14 

       OR 

  (1) If A = 







98

76
 and B = 








43

21
 then find AB and BA. 

  (2) Find the solution of following simultaneous equations by using Cramer’s 

rule. 

   x + y + z = 12 

   2x + y + z = 17 

   x + 2y + z = 16 

 (B) Multiple choice questions  :      4 

  (1) Find the value of  

542

791

791

  = ? 

   (a) 45 (b) 0 

   (c) 245 (d) 1 

  (2) The value of  
98

109
  is = ? 

   (a) 0 (b) 1 

   (c) 100 (d) 10 
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  (3) 

















100

010

001

 which matrix is this ? 

   (a) Zero matrix   (b) Unit matrix  

   (c) Simple matrix   (d) None of the above 

  (4) A–1 means ________. 

   (a) Inverse matrix   (b) Unit matrix 

   (c) ‘A’ matrix   (d) None of the above 

 

3. (A) Calculate Mean, Median and Mode of the following information :  14 

Class 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80 

Frequency 10 10 40 80 40 10 10 

OR 

  Calculate standards deviation :   

Class 0 – 10 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 

Frequency 5 10 15 25 30 18 12 

 (B) Multiple choice questions :      3 

  (1) Mode of 3, 8, 5, 3, 4, 5, 3 is – 

   (a) 8 (b) 3 

   (c) 4 (d) 5 

  (2) If x = 400 and n = 10 then x = ? 

   (a) 40 (b) 100 

   (c) 4000 (d) 410 

  (3) Types of Skewness is – 

   (a) 5 (b) 4 

   (c) 3 (d) 2 
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4. (A) Discuss about various types of sampling.     14 

              OR 

  Discuss Population and sample, Sampling and non-sampling error. 

 (B) Multiple choice questions :      3 

  (1) Error in questionary is what type of error ? 

   (a) Sampling error  (b) Non-sampling error 

   (c) (a) and (b) both  (d) None of the above 

  (2) Lottery method is which sampling method ? 

   (a) Stratified random sampling (b) Systematic sampling 

   (c) Random sampling  (d) None of the above 

  (3) What is true from the following ? 

   (a) Population = Sample (b) Population > Sample 

   (c) Population < Sample (d) None of the above 

__________ 


